Appendix 8

,

--

Preliminary information regarding current trainees of Prem Das Sewa Niketan

•

.

.

.

PERCENTAGE DISTRIBUTION OF CURRENT TRAINEES OF PREM DAS ACCORDING TO THE AGE GROUP OF THE TRAINEES

£~

مه خال الله جن من الله الله عن عن الله عنه عنه الله وال الله عنه الله عنه الله عن الله عن الله عن الله عن الله	یک میک باید کرد. این	n = 18
Age group (years)	ſ	%
	an an an an an ing alo an an an an an	
13 - 25	14	77.78
26 - 35	4	22.22
36 - 45	0	0.00
46 and above	0	0.00

312

•

e -

Percentage distribution according to the educational status of the trainee and family of the current trainees of Prem Das Sewa Niketan n = 18

.

Educational		Trainee		Father		Mother	
	status .	f	%	f	<i>1</i> /5	î	<i>₽</i>
3	Professional degree of Hons, M A and above	0	0.00	1	5.56	0	0.00
2	B A or B Sc degree	1	, 5 ₊56	3	16.67	0	0.00
3	Intermediate or post high school diploma	Ż	11.11	8	44.44	0	0.00
4	High school certificate	7	38.89	5	27.77	2	11.11
5	Middle school certificate	1	5.56	1	5,56	3	16.67
6	Primary school/ literate	7	38.88	0	0.00	2	11.11
7	Illiterate	0	0.00	0	0.00	11	61.11
	Total	18	100.00	18	100.00	18	100.00

313

_

-

Table 67

• •

-

•

Percentage distribution of current trainees of Prem Das Sewa Niketan according to the occupation of the family of the trainee

n = 18

•

-

							- 10			
	Occupation		Trainee		Father		Mother		Husband	
		f	<i>%</i>	f	%	f	%	f	%	
1	Profession e.g. medicine engineering, law, adminis- tration	0	0.00	5	27.78	1	5.56	1	100.00	
2	Semi- profession e.g. self- employed	2	11.11	4	22.22	0	0.00	0	0.00	
3	Clerical, shop-owners, business, farm owners	0	0.00	1	5.56	0	0.00	0.	0.00	
4	Skilled worker	0	0.00	1	5.56	0	0.00	0	0.00	
5	Semi-skilled worker	0	0.00	1	5.56	0	0.00	0	0.00	
6	Unskilled worker	1	5.56	5	27 .7 8	0	0.00	0	0.00	
7	Unemployed	15	83.33	1	5.56	17	94.44	0	0.00	
	Total	18	100.00	18	100.02	18	100.00	1	100.00	

۴

Percentage distribution of the current trainees of Prem Das Niketan Sewa/according to the income of the family

n = 18Income Groups % f · . 1 E.2000/- per month 5.56 1 • • 2 B.1000 - 1999 50.00 9 • • 3 B. 800 - 999 5.56 1 • • 4 B. 500 - 799 22.22 4 • • 0.00 5 is. 300 - 499 0 . . 6 B.100/- per month 16.67 3 • • . 100.01 18

.

•

•

Frequency and percentage distribution of current trainees according to the objectives of training as given by current trainees of Prem Das Sewa Niketan

. .

n = 18

•

-	يلامه الأمار حين على حين جان جان الله الحيد على حيد على حين جي جين الجار الله الحار الله الحي الحي ال							
Objectives		Yes		<u> </u>	ío	No responge		
		f	¢∕s	f	%	f	<i>%</i>	
1	To enable women to generate subsidiary income/supplementary income	18	100.00	0	0.00	0	0.00	
2	To impart certain vocational skills to trainees to make them self-dependent	13	72.22	1	5.56	4	22.22	
3	To raise the standard of living of these trainees by teaching them income generating skills		0.00	0	0.00	18	100.00	
4	To raise the social status of these trainees	0	0.00	C	0.00	18	100.00	
5	To raise their educational status by imparting certain basic knowledge	0	0.00	0	0.00	18	100.00	
6	To help trainees in setting up their own industries	0	0.00	0	0.00	18	100.00	
			<u> </u>	1				

Ŧ

.

.

Frequency and percentage distribution of current trainees according to the reasons for which women work of Prem Das

.

Sewa Niketan

Se	Sewa Niketan n = 18							
	Monetary or economic					*		
	reasons for which women work	Yes			No	No response		
		f	76	f	%	f	%	
1	Gross financial necessity	13	72.22	2	11.11	3	16.67	
2	Husband's income not sufficient to meet family expenses/to supplement husband's income	8	44.44	10	55.56	0	0.00	
3	Inadequate income of the principal earner	14	77.78	4	22.22	0	0.00	
4	To have an independent income	б	33.33	11	61.11	1	5.56	
5	Mishaps such as in- capacity of the bread-winner	6	33.33	11	61.11	1	5.56	
6	Death of the bread- winner	5	27.78	12	66.67	1	5.56	
7	Improve standard of living	16	88.89	2	11.11	0	0.00	
8	For food and education of children	6	33.33	10	55.56	2	11.11	
9	For buying items like T V or radio, etc.	2	11.11	14	77.78	2	11.11	
	1997 was 1997 was and say and say and say and any any say any say any any any any any any any any any a							

318

•

•••

Table 71

Frequency and percentage distribution of problems faced with training agency by the current trainees of Prèm. Das Sewa Niketan n = 18

.

							n = 18		
	Levels of difficulty								
	Difficulty		to a great extent		to some extent		at all		
		f	* %	f	7/0	f	%		
1	Reaching agency in time	15	83.33	1	5.56	2	11.11		
2	Being regular in attending work	15	83.33	1	5.56	2	11.11		
3	Finding the facility to overstay in the agency when required	15	83.33	1	5.56	2	11.11		
4	Planning long vacation from work	7	38.89	5	27,78	6	33.33		
5	Meeting the physical exertion demanded by work	8	44.44	5	27.78	5	27.78		
б	Concentrating on work	8	44.44	2	11.11	8	44.44		
7	Attending to extra- curricular activities e.g. songs, dance, bhajans	5	27.78	5	27.78	8	44.44		
8	Maintaining healthy relationship with -								
	8.1 colleagues	3	16.67	1	5.56	14	77.77		
	8.2 organizers	0	0.00	0	0.00	18	100.00		
9	Buying raw materials which are required	5	27.78	2	11.11	11	61.11		
10	Getting tools required for house- hold/practice	5	27.78	2	11.11	11	61.11		
~~~	ی بین میں میں میں میں میں میں اور	!	,						

,

• -

۴

Frequency and percentage distribution of problems faced by current trainees of **Prem Day** <u>with their</u> families or in personal life

n		18
11	-	10

							$\Pi = 10$	
				Le	vel			
Problems		to a large extent		to some extent		not at all		
		f	%	f	%	f	为	
1	Paying visits to parents	6	33.33	0	0.00	12	66.67	
2	Visiting relatives	6	33.33	0	0.00	12	66,67	
3	Visiting friends	4	22.22	0	0.00	14	77.77	
4	Entertaining relatives	3	16.67	3	16.67	12	66.67	
5	Entertaining friends	6	33.33	3	16.67	9	50,00	
6	Attending marriages and similar functions	4	22,22	3	16.67	11	£1.11	
7	Finding time for adequate rest	6	33.33	3	16.67	9	50.00	
8	Taking adequate care of health	5	27.78	1	5.56	12	66.67	
9	Purs ing hobbies	5	27.78	3	16.67	10	55.55	
10	Observing religious rituals	6	33.33	0	0.00	12	66 <b>.67</b>	
11	Getting the required permission from the family	6	33.33	1	5.56	11	61.11	
12	Seeking co-operation from the family	6	33.33	0	0.00	12	66.67	
13	Giving proper care and attention to children	2	11.11	2	11.00	14	77.77	
	ويريه ويتبع المريد مريد ويريد وي				] 	4	<u></u>	